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Elective — N.G.O. MANAGEMENT

(For those Who joined in July 2016 onwards)

Time : Three hours | Naxamum :

PART A — (10 x 1= 10 marks)

Answer ALL questions.

Choose the correct answer.

1. What is the definition for a NGO"

(a)
(b)
(c)
(d)

Government organization

Police force
Non-Government organ

Hospitals

1zation




How do NGO's make money?

(:ﬂ l’g‘uph‘ donatoe monev

(b)Y  People give them food

(©)  Government give ghem fund and goods
(_lh None of ]\("'Hl\

Which NGO 18 1in the most (.mm“-iﬂg?
(:!) R(W:II l)()(‘:(.np ”_Villg” Hl‘:l‘V.iCC

(b) Red Cross

(¢) lafe Line

(d)  All of these

Which of the following is NOT considered to be a
characteristic of a project?

(a)  An established objective
(b) A clear beginning and end

() Specific  time, cost and
requirements

(d)  For internal use only

IJ ( ; - , . . . T
u Tll(.,r: .. mechanism  of scientific management.
scientific tagk setting includes '

(a)  "Time study
(h)

(c)

Motion study

Method study

(d) Al of the above
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Following 1s SCone of mAanageme nt

s h
.5 .“‘I,TL_
-"'h_ e Wi

\ endeavor to achieve
(@) Management 1s an €7 - "

; . -*"'--""t';r -;-35
pre-determined objeCtive

\b\ Ma nagement 1S ({}‘EIL'&EHEL-

' ~ inter-disciplinary
(¢ Management is ao

approach

: L1 actuating and

controlling.

' . oy feature of non-
Which of the following is @ Kel feat

. ) § ':; )
governmental organisations (NGO's):
(a) They do not make or distribute profits
(b) They have nothing to do with governments

(¢©) They all campaign on behalf of human rights
(d) They all work within developing countries

Which of the following is an indicator of poverty In
India? .
(a) Illiteracy level (b) Income level

(¢) Employment level (d) All of the above

What are children's rights?
(a) Rights of provision

(b) Rights of protection

(c) Rights of participation

(d) All of the above _
Page 3 Code No.:12194%




10, 'The world 28 World inviconmental Day 18

colobrated on

(2} November 14
(b))  August 15
() Deceomiber |

(d)  June 15

PART B -——(H % §

‘ —
a0 marks)

Answer ALL questions choosing cither () or (b)

Answer should not exceed 250 worda

11 (a)  Write the classification of NGO's

Or
(b)  Explain the concept of NGO's.

12, f(a) Discuss about growth of NGO's in India.

Or
(b)  What are the functions of NGO's.

13. (a) Discuss about poverty alleviation
programmes in India.

Oy

(L") KN ‘}B 2 i AP ifll(f (,l “,HHI rl ¢ ILI()[]_ ()r }) ﬁg(” (P E
managemeng?
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14.  (a) IExplain the major principles of NGO's.

Oy

(b)  What are the importance of the Health Care
Syvstem?

15. (a) What are objectives of rural development?

Or
(b) Why 1s 1t Important to have NGO's in India”

PART C — (5 x 8 = 40 marks)
Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a) Elucidate the role of NGOs in Rural
development.

Or

(b) Examine the characteristics of NGOs.

17. (a) How can we protect the environment?
[oxplain.

Or

(b) Define project planning? Its Explain features
and types.
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(h)

Dicennn the follyw jng oteps for o gontl project

trtﬁrn;-:-amagie Nt

()

What  ave the greps and procedures  of

forimation of NGOg? xplan,

Plucidate the various strategies of social
action adopted by NGOs.

Or
foxplain the classification and  phases of
i .f'uj cel managemaen L.
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Goeiology — Main

sociorocy oF MARGINALISED GROUPS

For those who joined 10 July 2016 onwards)

PART A — (10 x 1 = 10 marks)

Answer ALLiquestions.

(Choose the correct answer .

1. What are the causes of marginalization of some

¢roups?

(a) difference in religion
(b) difference in Janguages
‘¢) difference in culture

‘d) all of the above




-

= 1 .i i ¥ r'-i -
.:"'I-- '..il- - - ! - -I | 4 2 i % 1 : i h_ - .J.- 2
: .T_I‘_l'{_;"‘: 'a'.i._' 'f:lt: A Fi’“ -l 'I"-. 1'_":"_{-"'1‘. ':.F lifﬁ"ﬁ'“_ﬁ?_ﬁa‘

B ol |
e 1 of women throueh

(n) Short stav home

D Swavam Sidha

¢) ~ Family counseling centres
(d) None of the above

1l pl"t)vidc the highest

Which of the following w
being”’

henefit of an older adult's well-

(8) Eﬂigﬂbﬂity for medicine and SOCIal
atus, income and

education

(b) Higher socio-economicC st
education

¢) Senior citizen privileges such as senior
citizen centers and senior citizen discounts

(d) Social networks that gives support and
meaning to life

In most countries, elderly women
than elderly men.

(a) are mistreated less

(h) live a few years longer

(¢c) suffer fewer health problems

(d) deal with issues of aging hetter

Page 2 Code No. - 12190 E




53 Who je scheduled tribee?

untouchability (b)

()  adi vasis

this concept?

(a) Primary/secondary (b) General/specific
(c) Weak/strong (d) Old/New
Which of

the following statements about gender
equality is true?

(a) It effects both men and women

(b)  Access to education is a gender equality 1ssue
in the U.S.

(c) Most countries do not have a problem with
gender equality

(d) Women have a much sexual freedom as men

The 7274 and 73" Amendment acts have provided
33% reservations of seats for ————— in the
local bodies.

(a ) WOIrnen (b) teachers

(¢) praduates (d) none of the above

Page 3 Code No, : 12190 E




J. Reservation plav an important role 1n providing

social yustice to

(d)  Adi vasis (b) Dalits
(¢} Muslims (d) Both (a) and (b)

| / 1 ¢ 1 v ‘
10. W hic n  of these 18 not an examp}e of ‘:"%(_}CBHE

exclusion®?
(@) Tax avoidance (b) Gated communities
(¢) Homelessness (d) None of the above

PART B — (5 X b= 25 marks)

Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 250 words.

11. (a) Write a short note on marginalization.

Or

(b) Explain the concept of social exclusion.

12. (a) Briefly explain the origin of untouchability.

Or
() dJothi Rao Phule’s role of the removal ot
untouchabihity.
Page 4 . 12190 E
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(:!) ) . i 3 s [ fl'}{!ﬂ
SCugy  {he coNStitutional measures
1‘!":” ‘%’J[]{E!ffhi
(r

(l) F oot - s 17 0 -
) Write a short note on tribal p#lflfﬂhdr}htﬂlﬂl-

14
(@) Discuss about Status of women in modern
India

Or
(b)  Explain the “Gender budgeting”.

15 #(a) Explain the eCOnomiC prOblemS Of the aged
people.

Or

(b) Give on general opinion of old age homes.

PART C — (b x 8 = 40 marks)
Answer ALL questions choosingreither (a) or (b).

Each answer should not exceed 600 words.

16. (a) Discuss the causes and eftects of
marginalization.

Or

(b) Describe the upliftment of scheduled caste
through reservation policy.

Page 5 Code No.: 12190 K
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17 (21) Flucidate the

ic and educational

welfare programmes of tribes.
Or
(b)  Discuss the major problems of

tribes.

19. (a) Explain the social legislation and
programmes for the henefit of women.

Or

(b) Discuss the strategies of
empowerment of women.

economic

20. (a)

Or

(h) Discuss  about  government remedial
measures for the wWeltare of elderly.




Sociology — Main

NDUSTRIAL SOCIOLOGY

(For those who joined in July 2016 onwards)

Maximum : 75 marks

a] relations cover the following area

1. Industri

(a) Collective bargaining

(b) Labour legislation
(c) Industrial relations tralning

(d) All of the above.




4.

i - R o EPe rn the positive
lion Mavo and his team f@ﬁhbw‘ﬂ AL prssitive

nature of

(a) Managers

(b) Management
(c)  Employees

(d) All of the above

Forms of strike include
(a)
(b) Stayin
(¢) Pen down

(d) All of these
eace is sceured through Voluntary

The industrial p
—— and compulsory —— -

Stay away

e ———— e —

(2) Ncgetiation and Adjudication
(b) Compromise and Arbitration
¢y Work Commitice and industrial Tribunal
(d) Adjudication and Arbitration,

Industrial dispules act was passed in the year
1957 (b) 1947




9.

The concept of divigion of labou¥

orts | ' e for workers g
Mhe efforis 1o make worth of [y VIS

| abour weltarve

()
f\?ﬁ\ | ..Hhﬂln“ securit s
w\ | .abour Invest ig:u,i()n

\d\) | -:Elhﬂui’“ \&F()[*](
wAas advocated by

a) Bad bage

b) Adam smith
) Gisbert

d) Emension.

ot an example of direct

which of the following n oL dare
loyees 1n participative

participation by the emp
management?

() Suggestion - bOX scheme

) Open — door policy

(¢) A joint management council member

(d) Autonomous work group

The Indian Trade Unions Act Came into force in
the year.

(a) 1926 (b) 1927

() 1947 (d) 1948

Page 3 Code No. : 12188 E




10. Which of the following 18 a nnt a characterigbics 6f

the worker's participalion in management?
(@) Consequence sharing

b)) Application of Upway control

(¢) Participation in decigjgp making.

(d) One-time activity
organisation,

in the hfe of the

PART B P (5 X D= 25 markﬂ)
Answer ALL questions, ChOOSing either (a) or (b).

Each answer should not exceed 250 words.

11. (az) Define Industrial Sociology and explain its

scope.
Or
) Explain the Concepts of Industry and
factory.

12. (a) Write a short note on collective bargaining.

% Or

(b}' List out the forms of industrial disputes.

13. (a) What are the types of strikes.

’ Or
(b)  Discuss about Joint Consultative machinery.
; Page 4 Code No.:12188 k
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4 (a)  Write a short note an Labgy, Court

; Or

(b) What are Importance of

) workey's
participation.

15. (a) Explain the scope of labour welfare
)
Or
(b)  Elucidate the concept of trade unions

PART C — (6 x 8 = 40 marks)
Answer ALL questions, choosing either (a) or (b).

Each answer should not exceed 600 words.

16. (a) Describe the soclo-economic significance of
industries.

Or

(b)  Analyse the significance of modern Industry.

17. (a) Discuss the conditions for successful
collective Bargaining.

Or
(b)  Describe the main aspects and scope of
Industriy] relations.

Page 5 Code No. :12188 E
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Tor those who jeined in duly 2016 onwards)
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PART A — %(10 x 1=10 l\l:il‘kS.)
Answeor ALL questions.
Choose the correct Gnswet .

Vearrdine 1o the view of social problems,
a A4 4 o Undaloe = A& e

3 eocial change disrupts the norms in @

SCCIOTY
=)
3)  sooial contiict
bh) social process
<  social deviance
'\ N .:."-L;':-L'gﬂa; § - v -
) socal disorganization

A}

v~cording to Marxist conflict theorists, social
R AR R -
~roblems are the result of

-

‘a) anomic

41
P \ a

) class inequality
the

i

qckness within soeial institutions
'd) different interpretations of roles

1C

=



b.

25 Taaspsrdeor laabsonuir W
i i‘-“f}JﬂZ_} ;I"‘ ':‘f.'\ar‘{" 11 ...-_,jlg‘:, 153

(1) (59d3v e CGrandhy

() N L RY E
R il Rahaduy Shastr
() Rany (randhi

~ontravention of gne or MOre institutional;, ..

sormative patterng 18 2 definition Of%

() Deviant Behaviour

(h) Customary ohedience

() Refusal-tendency

(d) None of the above

11TV stand for

(a) Health Immunity Virus-

(b)  Human Immunodeficiency Virus
(¢) Human Infectious Virus

(d) Health Infection Variation
There is a definite link between drug addiction

and —————

(a) rehabilitation (b) recovery
(c) crime (d) education

Alcoholics Anonymous mainly uses
therapy for alcoholism

(a)  Group interaction (b) Counseling
(c)  Rehabilitation (d) Role play
Waorld AIDS Day was designated on
CVEry year.

--.1:_1__._*_-

(1) 1 May (b) 8 March
(¢) 14 November (d) 1December

Page 2 Code No. : 12189 E




. The primary tests for diagnosing HIV and AIDS is

e

(a) KLISA Test
(L)  Complete blood count
(¢)  Biopsy
(d) MRI
10. The term Naxalites comes from Naxalbari, a small
wvillage in West Bengal, where an uprising was
initiated by ———— 1n 1967.
(a) Charu Majumdar (b) Kanu Sanyal
(¢) Jangal Santhal (d) All the above
PART B — (5 %X b = 25 marks)
Answer ALL questions, choosing either (a) or (b).
Kach answer should not exceed 250 words.
11. (a) Bring out the oeneral characteristics of social

problems.
Or
(b) Discuss the causes of social problems.
12. (a) How the drug abuse can he prevented?

Explain.

Or
(b) Write a short note on alcoholism.

13. (a) Define child labour.
Or
(b) What are the causes of child labour? Discuss.
11. (a) Analyse AIDS as a social problem.
Or
(b) Daiscuss the preventive and protective
measures of AIDS.
15. (a) Explain the causes ot terrorism.
Or
(b) What are the types of terrorism?
Page 3 Code No.: 12189 K
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19.

PART C . (5 %849 marko)

Answer Al GUCOLIG R choosnE cithcr (a) ar ().
[ uch answorr :'ihmanhil ok ﬁ:i@f:(:‘f’.i GOO words,

(a)

(D)
(a)

(h)

o

Write an on the types of social

CreaY
gﬂrwbhzmm

Oy
lxplain the pepspectives of social p@hﬁ&fﬂ
Repeated dryg or aleohol use often interferes
with health work or social relationships.
CWUC@"}J’ ana]yﬁg,

Or
Bring out the causcs of aleoholism and its
impact of the goeiety progress.
Anzlyse Child labour 35 a social problems
that threatens the future of the nation.

Or
Explain the measures by the Indian
Government to eradicate Child labour.

Explain the modes of transmission of AIDS.
Or
Fxamine the problem faced by the AIDS
affected  individual, his/her family ‘and
soCiety.
Explain in detail any two terrorist attacks
hapnened in India and 1ts consequences.
Or
Critically analyse how terrorism can be
combated legally.

e e

Page 4 Code No. : 12189 E
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B A (CBCS) DEGREE EXAMINATION,
APRIL, 2019.

Fourth Semester

Sociology — Alled
CONTEMPORARY SOCIAL PROBLEMS

(For those who joined in July 2012-2015)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.

Choose the correct answer :

1. Breakdown of social control 1s called

approach.
(a) Cultural lag
(b)  Social disorganization

(c) Personal deviation
(d) None of the above

Which one of the following 1s not a characteristic
feature of social problems?

All social problems are:

(a) Social origin

(b) Solved by great leader
(c) Occur in all societies
(d) Interconnected

IO




~hildren up to

Free .y tion for
—__  Compulsory €% EL. = I:JE“t.r—rHla:fl by the
. - -4 age * 4 |
‘(Ifr‘;{ }??]T']t Y-!* }.f{ > _
{“{ 16 (b) 12
€} 14 (d) 10
(rj{h;{im’””{f number 1098 15 © help line related to
4)  Chilq o ay R
(€)  0lg 2c (d) Transgender
(]'31]1:17‘ State js in the recent NCW> t(;:‘
"f‘) I’P(Jhihil;(m (b) bﬁpt’:”' g 3
©  Crimes (d) Child labour

(,.hrom(:: phase 1s related tO
(@)  Alcoholism

(b)  Drug abuse

(¢)  Beggary

(d)  Commercial sex work

The Immoral Traffic (Prevention

in
(a) 1984 (b) 1972
(c) 1956 d) 1992
Which of the following related to AIDS 1s
incorrect?
(a) Mosquito
(b) Old human disease
(¢) Laboratory experiment
(d) Apes or Monkey
Which one of the following 1s not the aim of
Terrorists?
(a) [ limination of opponents
(b) Mobilize mass support
(c) (‘oercion of Government re-action
(d) Acting a8 pressure group

) Act was enacted

Page 2 Code No. : 22575 E
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(1)

()

\nswer AL questions,

L Orroram mm\lumﬂwl (i)
& ; "

\ndhra Pradesh o
(d)  Havyann

Pungab

g Feowe [y :'.,h IMNrKy
PART B (h XD narks)
(«lumf%ln;{ e*li.lwr (EH_) 1% (11)4

| R TAIATR 6 ) [ c Y e
1aeh answer should not exceed 250 words.

(Q)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Ovr
xplain social disorgamzation approach of
social problems.
Bring out the measures to prevent
alcoholhism.

Or
Kxplain drug abuse.
Define child labour.

Or

Bring out the barriers to contain child labour
1in India.

How to prevent AIDS among sex workers?

Or
[Clucidate the modes of transmission of
AlIDS.
ring out the characteristics of terrorism.

Oy

What are legal the measures to contain
terrorism?

Page 3  Code No. : 22575 E
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B.AL (CBOS) DRGREX ERAMINATION, Appi1, 2019

[Mirst Semegatopp
Sociology — Allied
POPULATION STUDIKS
(For those \yho joined in July 2016 onwards)

Time : Three hours Maximum @ 76 marks

PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer

1. When was first census held in India?
(a) 1870 (b) 1871

() 1872 (d) 1874




&

census?
(a) Mlzoram (b) Manip ur
(C) Haryan 3 ( d) De].hl

Demogl‘aphic transition theory states
country becomes industrialized

(a) the death rate declines, but not the birth rate

(b)  the birth and death rate decline together

(c) the birth rate declines and then the death
the declines | '

(d) the death rate declines and then the birth

rate declines

(a) contracepton (b) religious values




15
K CXpect: ancy Was
wiels I—
risk of d”’mh W&% very high during

(b) infancy angd childhood
(c) young adulthood

(d) old age

Malthus predicted a global Ccrisis involving

(a) poverty (b) economic deprivation
(c) starvation (d) warl

Demographers call movements of people across a

national boundary
(a) international migration

(b) 1internal migration

(¢) external migration

(d) 1mmigration

Most cost effective family planning method 1s
(a) oral pills (b) copper T

(¢c) tubectomy (d) vasectomy

Page3 Code No. : 12197 E




-5 ), ‘ o &, \ vf 3 .
of modern €08 Cebl of family planning

10.  Scope -
w il exeept

SOTVICOS imehade

(@  seroening of corvical cancer

(h) M*m*‘u_iit\!i QETVICES for unmarricd moshers

() sereening for HIV mtection

@ providing adeption services
PART B — (8 X 9 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Rach answer should not exceed 250 words.

11. (a) What are the importance of demography”

Or

@) What are the objectives of sample survey?

12. (& Briefly write about optimum theory.

Or
(b) Explain the concept fertility.

13. (a) Discuss about mortality and population
change.

Or

(b) Elucidate the causes of infart mortality.

Page 4 Code No.:12197 E
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rnal migration”

. fo: 1 |
15. (a) Discuss about teatures of national population

Answer ALL questions choosing either (a) or (b).

Each answer should not exceed 600 words.

@
16. (a) Elucidate the nature and scope of social

demography.
Or
(b) Explain the merits and demerits of sample
survey.

17. © | ithus;
. (a) Examine Maithusian theory of population.

(b) Discuss about demographic transition

Page 5 Code No.: 12197 E
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18. (&) Elaborate the _g@gyn=€(30ﬂ(ﬁﬂ 1C fa

affecting fertility.

Or
;Kh) Define mjgration and it s effGCtS Of migratmn,

19. (a) Elucidate the differentials in mortality by
Sex.

Or

0 2 3
(b) Examine the factors of retarding internal
migration in India.

&
20. (a) Discuss about impact of population growth
on Indian society.

Or

(b) Explain the family welfare programmes in
India.
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Sixtn Semegtep

Sociology = Main
INDUSTRIAL SOCIOLOGY
(For those who joined in July 2016 onwards)

Time : Three hours Maximuin : 75 marss

PART A — (10 % 1= 10 marks)
Answer ALL questions,

(‘hoose the correct answer .

1. industrial relations cover the following area
(a) Collective bargaining
(by lLabour legislation
(¢j Industrial relations Lraining

(dy All of the above.



‘W

' ! ¥ fh‘ anﬂh“fﬁ
Flion Mayo and bis team helieved 10 {

ngture of

— and eompulsory ——————"—".

(a) Negotiation and Adjudication
(b Compromise and Arbitration
() Work Commitice and industrial Tribunal

(dy Adjudication and Arbitration.

Industrial digputes act Wab passed in the year

(ay 1947 (b) 1947
(cy 1957 (d) 1967
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10 Which of the tollowing 15 0 not a characteristies of

he worker's participat 0N 1IN management?

@) Consequence sharing
B Applieation of Tpward control.
@) Participation in decision making.

(d)  One-time  activity in the life of the
organisation,

PART B -— (5 x b = 25 marks)
Answer ALL questions, choosing either (a) or (b).

Kach answoer should not exceed 250 words.

1. (a) Define Industrial Sociology and explain its

sCope.
Or
(b)  Explain the Concepts of Industry and
factory.

2. (a)  Write a short note on collective bargaining.
Or
(b)  List out the forms of industrial disputes.

3. (a)  What are the types of strikes.

Oy
(b)  Discuss about Joint Consultative machinery.
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11 (@)
(D)
10 (1)
(b)

Answ

) I,'i‘ ¢
vl 1 an abour Clourt,

'
L

are importanee of  worker?

lixplain the BEOPE ol lnbour welfare.

Ovr

[*lucidate the concept of trade HN1IONS.

PART C — (b x 8= 40 marks)

or ALL questions, choosing either (a) or (b).

[ ach answer should not exceed 600 words.

16. (a)
(b)
17. (a)
(h)

Describe the S0CI0-€CONOMIC significance of

industries.

Or
Analyse the significance of modern Industry.
Discuss the conditions for  successful
collective Bargaining.

Or
Deseribe the main  aspects and scope of

Industrial relations.
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disepute.
Oy
b ' . s : ai
(b) Explain the various cageses Of ndustri
dispute.

19. (a) Bring out the labgur welfare activiti€es

undertaken by Government of India.

Or

() Explain the role of national Tribunal to
settlement of industrial disputes.

20. (a) Enumerate the concept of labour welfare anad
bring out 1ts importance.

Or

(b) Elucidate the levels of worker’s participation
1IN management.
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B.A. (CBCS) DEGREE EXAMINATION.
APRIL 2019.

S1xth Semester

Sociology — Main
SOCIOLOGY OF WELFARE

(For those who joined in July 2016 onwards)

Time : Three hours Maximum - 75 mﬂfkﬁ
PART A — (10 x 1 = 10 marks)

Answer ALL questions.

Choose the correct answer :

1. Article - of the Indian constitution
prohibits the employment of children 1n any
factory or mine or in any other hazards

occupation.
(a) 24 b) 25
(c) 26 (d) 27
92  The child marriage Restraint Act was enacted 1n
the year ———.
(a) 1939 (b) 1929

(¢) 1949 (d) 1959




Article 16 (1) and (2)
Article 17 (1) and (2)

lhﬂ gtate o ma]{E E]JE{HB.I IJI‘DViEi{}I‘lE for women.
(a) Article 14(3)  (b)  Article 15 (3)
(¢) Article 16 (3) (d) Article 17 (3)

5 E:u:p:il‘ld NPOP |
(a) National Policy for Older Persons

(b) National Programme for Older Persons
(¢c) National policy for Orphan Persons
(d) National Programme for Orphan Persons

6. National social assistance programme
launched on ——8@™—.
(a) 1975 (b) 1985
(c) 1995 (d) 2005

7. Persons with Disabilities equal opportunities,

Protection of rights and full Participation Act was
enacted in the year

(a) 1995 (b) 1985
© 2005 d) 2015

8.  National Policy for Persons with Disability was
announced in the year — —

(a) 20041 (b) 2005
(©) 2006 (d) 2007

was
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Social welfare aims at — -
(n) Retrogration (b) Stagnition

'l.*l:'i:l Status Quo (d) U{‘vulnpmi.‘ﬂt

8 = have to take the responsibility of
welfare.

(a) (Citi1zen

(b) NGO

(©) State and central governments

(d) Community

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

aocial

Each answer should not exceed 250 words.
11. (a) What are the objectives of social welfare”

Or
(b) What is the scope of social welfare?

19. (a) Explain the causes of drop outs in schools.
Or

(b) Describe the reasons for children orphanage.
13. (a) Explain the status of women i1n Vedic Period.

Or
(b) Describe the status of women during mogul
period.
14. (a) Write a note on ageing.
Or

(b) Explain the conditions of the aged during pre
independent India.

15. (a) Who are all physically challenged? Explain..
Or

(b) Explain the reasons for the birth of
physically challenged children.
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PART C — (5 x 8 = 40 marks)

Answer ALL questions, choosing either (a) or (b).

[rach answel should not exceed 600 words.
6. (a) mxamine the role of state government in
hringing social welfare.
Or
(b) Analyse the various state

Programmes of social welfare
employing child

GGovernment

17.  (a) lxamine the reasons for
labour.
Or
(b) What the offects of the employment of
children.
18. (a) Examine the present status of women 1n
India.
Or
(b) Critically analyse the various legal
safeguards to women. |
a social

19. (a) Why do agelng 18 considered as
problem? Criticise.

Or
(b) Old Age Hermes are solution for solving

Aged problems comment.
) How do you bring down the birth rate of

physically challenged children.

Or
(b) Examine the huddles with process of
rehabilitation of physically challenged.

20. (a
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